Section 1.4: Market Failure Past Exams
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HL1 + SL.1

May 2014 syllabus 1.2 HL

1a) Analyse the private and external
benefits associated with the consumption
of university education. (10 marks)

1b) Evaluate the policies a government
might use to increase the consumption of
university education.

(15 marks)

May 2014 syllabus 1.2 S

1a) Explain three factors that could lead
to an increase in demand for cigarettes.
(10 marks)

1b) Discuss three policies a government
might use to reduce the consumption of a
demerit good such as cigarettes. (15
marks).

May 2013 syllabus 1.2 HL

2. (a) Using diagrams, explain how
the incidence of an indirect tax may
be affected by the price elasticity of
demand. (10 marks)

(b) To what extent might the
problems of negative externalities of
consumption be resolved by the use
of indirect taxation? (15 marks)
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Note: IB papers 2 also test 1.4
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